SEND IN TASK 2

A. SYNTAX  TREES

Do the following for each sentence:

a) Identify the clausal functions for the following sentences. 

b) Identify HOW the clausal function is realized (form) (i.e. NP, VP, PP, AdjP, AdvP)

c) Identify the head of the S, Ps, Od, Oi, and other clausal functions

d) Identify the word class for every word in each sentence

e) For the online seminars, draw syntax trees representing each sentence.
For example, for the following sentence:

At the meeting, the strange chef had told us to buy the on-sale items

	S
	P
	Oi
	Od

	The strange chef

Noun Phrase (NP) det- adj-noun


	had told

Verb Phrase (VP)

finite verb, non-fin verb
	us

Noun Phrase (NP)

Pronoun
	to buy the on-sale items

Verbal Phrase (also known as non-finite phrases)

	Head of S

chef
	Finite verb:

had
	head of Od
us
	head of Oi
buy

	A
	Ps
	Pc
	Ac

	At the meeting

Prepositional Phrase

Prep-det-noun

At
	head:
	head:
	head:

	
	
	Pattern Type

Di-transitive
	


1. Following the breakdown, the boiler exploded with a loud bang.

2. A dancer’s’ body is her living voice.

3. Americans love informal dining.

4. The aircraft commander behaved imprudently.

5. Sagebrush carpets all the Eastern states of America.

6. Dr Jekyll, the scientist, became a different person after his experiment.

7. The groom wearing a brocade tux arrived 30 minutes late for the ceremony.

8. Stephen King, the world’s most popular author, gives readers a scary story.

9. Our local yards turned brown because of the winter frost.

10. Literary historians call many 19th century American writers regionalists.

11. The International Olympic Committee returned Jim Thorpe’s medals to his family in 1983.

12. Holocaust museum visitors find their experience unsettling.

13. Amelia Earhart disappeared in 1937 during an around-the-world flight.

14. Spring is hiking season in Idaho

15. For the first course, the chef made the anniversary couple a mango-basil soup.
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B. Identify the noun information below. 
Are they abstract or concrete? Are they proper or common? Are they countable or uncountable (noncount)? Are they plural or singular? Are they variable or invariable?

Use the following abbreviations in your answer:

Abs-abstract, Con-concrete, P-proper, Com-common, UnCt-uncountable, Ct-countable, PL- plural, S-singular, V-variable, I-invariable 

e.g.  homework Abs, Con, Com, UnCt
1. milk  2. loaf 3. geese 4. Sweden 5. stimulus 6. money 7. mortgage 8. deer 9. vermin 10. police 11. statistics 12. homework 
C. Give the plural forms of the following nouns: 
leaf, moose, Swiss wife, louse, woman,  author, analysis,  sister-in-law,  stimulus, species, criterion, person 
D. Some (but not necessarily all) of the sentences below have mistakes in them. Correct the ones which have mistakes by giving the correct form. Why were they wrong? 

1. The couple were in the restaurant.  

2. The board consists of two members.  

3. Two miles are a long distance to crawl.  

4. The Himalayas is in Asia.  

5. Mathematics are difficult.  

6. Measles are deadly.  

7. The cod are jumping in the water.  

8. Check out the news in the paper of today.  

9. The womens' movement is still going strong.  

10. Elvis' grave is in Memphis.  

11. Many important evidences are shown in the report.  

12. He is an yodeller from Austria.  

13. They went to the bed to sleep having lost the interest in TV.  

14. The Communism is a political ideology.  

E. Various questions 

1) What is meant by a noun with a zero plural? Give at least three examples.  
2) Explain the use or absence (-) of the indefinite article in the following sentences:  
a. She is an engineer and has recently been appointed (-) managing director of the firm she works for. 
b. Clinton was (-) governor of Arkansas before he was elected (-) president of the United States. 
c. She is a Catholic but she is married to a Protestant. 
d. She is a professor at Oxford University. 
e. Would you like some tea? No thanks, but a coffee would be nice. 
3) Explain the use or absence (-) of the definite article in the following: 

a. The petrol polluted the whole area. 
b. (-) Petrol has become very expensive. 
c. (-) Doctors claim that coffee makes you slim. 
d. The doctors can’t do anything to save him. 
e. He was so seriously hurt that he had to go to (-) hospital. 
f. They drove past the hospital. g. (-) History can teach us a lot about the present. 
h. The history of the US is interesting. 
4) Do these proper nouns take the definite article or not? Are there guidelines as to why? EU, Internet, winter, Netherlands, Lake Michigan, BBC, Rocky Mountains, New York Times, Kennedys, Easter, Pacific Ocean 
5) Identify the grammatical “problem” in the sentences below, correct the error and try to explain what the problem is: 

a. This is an normal answer. 
b. The society has a great responsibility in these matters. 
c. USA have eight of the world’s top ten universities. 

d. What a nice weather! 
e. No news are good news. 
f. He’s in good mood today. 
g. Parents sometimes feel that they can’t affect their childrens lives. 
h. There were a lot of damages on their car after the accident. 
i. Many people have lost their job during the recession. 
j. We often had homeworks consisting of a list of words that had to be learnt by heart. 

